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2. LinuxVM 8 =%

stolgLC
Of2f iYL 60GB 0|4t CATE MMt 42 608 90| LH{X| B82S BE ALY 4 YEE 31

HHHO| CHt O QlL|Ct

ot 22 Mg VM 4 £ HZ HYSIAE DS FUSIH, MH|A & 8 & 21X ots 0=
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S2|Al7] BFEHLIC.

Linux YOl B S & 224 Z2 man YOS Sof 7|2 ABHS B & AL
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7P)  Disk % W 1 (22 GIE|Moj| 012 E)
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® oiXj /dev/hdal(/ LtE|44)0] 40G 2 £ /=0 ol F & 20G & /data LtE|M 0| O E St=

Hi
o d

A. fdiskE 0|83t0f mE|ME =l & LIMX| SZH2 L1 IDE 8e (Linux LVM)2 2 47
o) C|A3(/dev/hda)o| LFHA| 27tS LVMO E THE|M &p= A
[root@localhost ~]# fdisk -I

Disk /dev/hda: 64.4 GB, 64424509440 bytes
255 heads, 63 sectors/track, 7832 cylinders
Units = cylinders of 16065 * 512 = 8225280 bytes

Device Boot Start End Blocks Id System
/dev/hdal * 1 13 104391 83 Linux
/dev/hda2 14 5221 41833260 8e Linux LVM

[root@localhost ~]# fdisk /dev/hda

The number of cylinders for this disk is set to 7832.
There is nothing wrong with that, but this is larger than 1024,
and could in certain setups cause problems with:
1) software that runs at boot time (e.g., old versions of LILO)
2) booting and partitioning software from other OSs

(e.g., DOS FDISK, OS/2 FDISK)
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Command (m for help): p

Disk /dev/hda: 64.4 GB, 64424509440 bytes
255 heads, 63 sectors/track, 7832 cylinders
Units = cylinders of 16065 * 512 = 8225280 bytes

Device Boot Start End Blocks Id System
/dev/hdal * 1 13 104391 83 Linux
/dev/hda2 14 5221 41833260 8e Linux LVM

Command (m for help): n
Command action
e extended
p primary partition (1-4)
¢]
Partition number (1-4): 3
First cylinder (5222-7832, default 5222):
Using default value 5222
Last cylinder or +size or +sizeM or +sizeK (5222-7832, default 7832):
Using default value 7832

Command (m for help): p
Disk /dev/hda: 64.4 GB, 64424509440 bytes

255 heads, 63 sectors/track, 7832 cylinders
Units = cylinders of 16065 * 512 = 8225280 bytes

Device Boot Start End Blocks Id System
/dev/hdal * 1 13 104391 83 Linux
/dev/hda2 14 5221 41833260 8e Linux LVM
/dev/hda3 5222 7832 20972857+ 83 Linux

Command (m for help): t  <- TtE|M EI
Partition number (1-4): 3 <- I}E|M MEH
Hex code (type L to list codes): 8e  <- 8e MEH(LVM)
Changed system type of partition 3 to 8e (Linux LVM)

Command (m for help): p
Disk /dev/hda: 64.4 GB, 64424509440 bytes
255 heads, 63 sectors/track, 7832 cylinders

Units = cylinders of 16065 * 512 = 8225280 bytes

Device Boot Start End Blocks Id System
/dev/hdal * 1 13 104391 83 Linux
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/dev/hda2 14 5221 41833260 8e Linux LVM
/dev/hda3 5222 7832 20972857+ 8e Linux LVM

Command (m for help): w

The partition table has been altered!

Calling ioctl() to re-read partition table.

WARNING: Re-reading the partition table failed with error 16: Device or resource busy.
The kernel still uses the old table.

The new table will be used at the next reboot.

Syncing disks.

[root@localhost ~]# reboot

B2 ES THEIM 2ol

[root@localhost ~]# fdisk -I

Disk /dev/hda: 64.4 GB, 64424509440 bytes
255 heads, 63 sectors/track, 7832 cylinders
Units = cylinders of 16065 * 512 = 8225280 bytes

Device Boot Start End Blocks Id System
/dev/hdal * 1 13 104391 83 Linux
/dev/hda2 14 5221 41833260 8e Linux LVM
/dev/hda3 5222 7832 20972857+ 8e Linux LVM

B. pvcreate HHZ O|& Physical Volume & 44
| [root@localhost ~]# pvcreate /dev/hda3 ‘

C. Physical Volume & data 2t= O|& 2| Volume Group @ £ vgcreate HHZ 0|50 Mo

| [root@localhost ~]# vgcreate VolGroup00 /dev/hda3 ‘

D. vgdisplay @892 Volume Group HE 29l 7ts.

| [root@localhost ~]# vgdisplay ‘

F. Ivcreate @2 0|25l test 2t=(Q 2| M) 0|£ 2| Logical Volume 2 Mo
(Ivcreate HH-2 Volume Group O|S(data)2 -L, -n M1t &4 =0 A& st=0| , -L M Flol=
Logical Volume 2| 2 7|& -n &M F| 0= Logical Volume 2| 0|E0| F0{&IL|LCt.

| [root@localhost ~]# lvcreate -L 20G -n test VolGroup00

G. D2 E CfY CjAMER|(/data) dd = O A|LR0AM BM 2 7HS55H=F Logical Volume &
Zo5ln O E

[root@localhost ~]# mkfs.ext3 /dev/VolGroup00/test
[root@localhost ~]# mkdir /data

[root@localhost ~]# mount -t ext3 /dev/VolGroup00/test /data/
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[root@localhost ~]# df
Filesystem 1K-blocks Used Available Use% Mounted on
/dev/mapper/VolGroup00-LogVol00

38471112 3066536 33418836 9% /
/dev/hdal 101086 31551 64316 33% /boot

tmpfs 257652 0 257652 0% /dev/shm
/dev/mapper/VolGroup00-test

20642428 176200 19417652 1% /data

H 28 A XS2E OIRE E|E 5 /etc/fstab O S5

/dev/VolGroup00/LogVol00 / ext3  defaults 11
/dev/VolGroup00/test /data ext3  defaults 11
LABEL=/boot /boot ext3  defaults 12
tmpfs /dev/shm tmpfs defaults 00
devpts /dev/pts devpts gid=5mode=620 00
sysfs /sys sysfs  defaults 00
proc /proc proc  defaults 00
/dev/VolGroup00/LogVol01 swap swap defaults 00




o (SR MVAV/ON

GLOBAL IT SERVICE PARTNER

Lh

A.

B.

VM 48 =7|0f gotRle= &0 tis Volume Group & O|&dl / TE| &5 2H&dt=

WY LICH
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[root@localhost ~]# df (SiX} SIELC|IAT O AFREF I &2 22FS FA|SF= HHY)
Filesystem 1K-blocks Used Available Use% Mounted on
/dev/mapper/VolGroup00-LogVol00

38471112 3057880 33427492 9%/ (/ TtE|M 22 19l)
/dev/hdal 101086 31551 64316 33% /boot

(37§ C|A3 TE|M 2|2E Q)

[root@localhost ~]# fdisk -l

Disk /dev/hda: 64.4 GB, 64424509440 bytes (8] C|A3 TDHE|M 22F 644 GB)
255 heads, 63 sectors/track, 7832 cylinders

Units = cylinders of 16065 * 512 = 8225280 bytes

Device Boot Start End Blocks Id System
/dev/hdal * 1 13 104391 83 Linux
/dev/hda2 14 5221 41833260 8e Linux LVM

fdisk /dev/had HHo = &2 TE|M S /dev/hda3 2 FIMYY = EtYS 8e (VM2 2 B
MgetHt Of2 =M oH Fx)

ot

fdisk 3o 2 C|A3 mE|M =Y
‘ [root@localhost ~]# fdisk /dev/had ‘

p ¥ SIx| AEf =l (WX C|AA 0= /dev/hdal, /dev/hda2 | &7l mE|MO| ZXiE
Command (m for help): p (THE|M Bz 27))

Disk /dev/hda: 64.4 GB, 64424509440 bytes
255 heads, 63 sectors/track, 7832 cylinders
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Units = cylinders of 16065 * 512 = 8225280 bytes

Device Boot Start End Blocks Id System
/dev/hdal * 1 13 104391 83 Linux
/dev/hda2 14 5221 41833260 8e Linux LVM

C. LtHX| S0 A TEM 2 &Y (n)
Command (m for help): n => AMAOE|M F7t

Command action

e extended
p primary partition (1-4)
p => primary T}E| NS Q57|
Partition number (1-4): 3 => 3N DlE|MO 2 FT}
First cylinder (5222-7832, default 5222): (AE/FHR| TE|M O|ZEE AMR)
Using default value 5222
Last cylinder or +size or +sizeM or +sizeK (5222-7832, default 7832): (YU E/LIHX|E EFALE)
Using default value 7832

Command (m for help): p (THEIM szt H7))

Disk /dev/hda: 64.4 GB, 64424509440 bytes
255 heads, 63 sectors/track, 7832 cylinders
Units = cylinders of 16065 * 512 = 8225280 bytes

Device Boot Start End Blocks Id System
/dev/hdal * 1 13 104391 83 Linux
/dev/hda2 14 5221 41833260 8e Linux LVM
/dev/hda3 5222 7832 20972857+ 83 Linux 27} OhE|M 2H0))
Command (m for help): t (THE|M EfQIES BY)
Partition number (1-4): 3 (3 HR| LE|ME MEH)

Hex code (type L to list codes): 8e  (L}E|M EIY S 8e(LVM)SZ HHA)
Changed system type of partition 3 to 8e (Linux LVM)

Command (m for help): p (THE|M Big "))
Disk /dev/hda: 64.4 GB, 64424509440 bytes

255 heads, 63 sectors/track, 7832 cylinders
Units = cylinders of 16065 * 512 = 8225280 bytes

Device Boot Start End Blocks Id System
/dev/hdal * 1 13 104391 83 Linux
/dev/hda2 14 5221 41833260 8e Linux LVM
/dev/hda3 5222 7832 20972857+ 8e Linux LVM (HALYE =t9l)
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Command (m for help): w (IOl EASH LI 82 KAHstL|CH

The partition table has been altered!

Calling ioctl() to re-read partition table.

The kernel still uses the old table.

The new table will be used at the next reboot.

Syncing disks.

D. reboot FHOZE MHE 2|28 TfL|CH

‘ [root@localhost ~]# reboot

E. MZ MMt /dev/hda3 LtE|MS ext3 TtUA|AHR O Z OHSHL|CL.
=

(mkfs.ext3 : linux Dt YA|AEIS ext3 E}QIO 2 OiS}

[root@manage ~]# mkfs.ext3 /dev/hda3
Filesystem label=

OS type: Linux

Block size=4096 (log=2)

This filesystem will be automatically checked every 32 mounts or

180 days, whichever comes first. Use tune2fs -c or -i to override.

o MH 2[RY0| HZE = Of2fet 20| 2F F7t HYS TY YLICh

A. pvscan XY MEf =0l

d3)

rr

[root@localhost ~]# pvscan (pvscan &= Physical Volume & =9l &}
PV /dev/hda2 VG VolGroup00 Ivm2 [39.88 GB /0 free]
Total: 1 [39.88 GB] / in use: 1 [39.88 GB] / in no VG: 0 [0 ]

B. pvcreate : Physical Volume & M St= T (M2F A] Of2f vgextend X Al MM =)

[root@localhost ~]# pvcreate /dev/hda3
Physical volume "/dev/hda3" successfully created
[root@localhost ~]#

C. VolGroup00 0] 24217k &[0 QK| 87| W2 of 2at

it

[root@localhost ~]# vgchange -a y VolGroup00 (vgchange s E&1&2 &d3})

2 logical volume(s) in volume group "VolGroup00" now active

D. &€M3} & vgextend & A&l VolGroup00 0 /dev/hda3 & CtS1f &0| 7t

MM =l physical volume & Volume group 0 37}

[root@localhost ~]# vgextend VolGroup00 /dev/hda3

Volume group "VolGroup00" successfully extended
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[root@localhost ~]#

E. VolGroup00 o €& & =2l
[root@localhost ~]# vgdisplay VolGroup00 (EE1E°| &40t MEE EEL|CH

--- Volume group ---

VG Name VolGroup00
System ID

Format lvm2
Metadata Areas 2
Metadata Sequence No 4

VG Access read/write
VG Status resizable
MAX LV 0

Cur LV 2

Open LV

Max PV 0

Cur PV 2

Act PV 2

VG Size 59.88 GB
PE Size 32.00 MB
Total PE 1916

Alloc PE / Size 1276 / 39.88 GB
Free PE / Size 640 / 20.00 GB

VG UUID y1lktlc-mOyu-9SLZ-NOIh-QOTS-Q31v-sVnkb?2
F. Ivextend HHE 0|23810] ¢ TIE|M ZHA0| M =7}t 20G 222 F=7tgt

(lvextend : LV & 2H&A|7|= B H)
[root@localhost ~]# Ivextend -L +20G /dev/VolGroup00/LogVol00
Extending logical volume LogVol00 to 57.883 GB

Logical volume LogVol00 successfully resized

G OHZAIAE M3 & 2[Ato]E

(e2fsck HH : Linux It YA AEIE check A] AR E|= HEHY)
[root@localhost ~]# e2fsck -f /dev/VolGroup00/LogVol00
e2fsck 1.39 (29-May-2006)

/dev/VolGroup00/LogVol00 is mounted.

WARNING!!! Running e2fsck on a mounted filesystem may cause

SEVERE filesystem damage.

Do you really want to continue (y/n)? yes

/dev/VolGroup00/LogVol00: recovering journal

Pass 1: Checking inodes, blocks, and sizes

Pass 2: Checking directory structure




o (SR MVAV/ON

GLOBAL IT SERVICE PARTNER

Pass 3: Checking directory connectivity
Pass 4: Checking reference counts
Pass 5: Checking group summary information

/dev/VolGroup00/LogVol00: ***** FILE SYSTEM WAS MODIFIED *****
/dev/VolGroup00/LogVol00: ***** REBOOT LINUX *****
/dev/VolGroup00/LogVol00: 132954/9928704 files (2.3% non-contiguous), 1075408/9928704 blocks

(resize2fs 2] : C|HFO|A ext2(ext3) LIE|MO| 3 7|E =ASH= HHO)
[root@localhost ~]# resize2fs -p /dev/VolGroup00/LogVol00

resize2fs 1.39 (29-May-2006)

Filesystem at /dev/VolGroup00/LogVol00 is mounted on /; on-line resizing required
Performing an on-line resize of /dev/VolGroup00/LogVol00 to 15171584 (4k) blocks.
The filesystem on /dev/VolGroup00/LogVol00 is now 15171584 blocks long.

[root@localhost ~]#

H. Ivscan I} pvscan 22 & Gl AIO|= 29l

[root@localhost ~]# lvscan (Logical Volume 20I)
ACTIVE '/dev/VolGroup00/LogVol00' [57.88 GB] inherit
ACTIVE '/dev/VolGroup00/LogVol01' [2.00 GB] inherit

[root@localhost ~]# pvscan (Physical Volume Z0I)
PV /dev/hda2 VG VolGroup00 Ivm2 [39.88 GB /0 free]
PV /dev/hda3 VG VolGroup00 Ivm2 [20.00 GB /0 free]
Total: 2 [59.88 GB] / in use: 2 [59.88 GB] /inno VG: 0 [0 ]

F.o 2l W&7HX| OHE = M 228
2| £80| 2t = oo 20| df FHS 0|5t F7tE RE ME|H S &2l 7ts
[root@localhost ~]# df

Filesystem 1K-blocks Used Available Use% Mounted on
/dev/mapper/VolGroup00-LogVol00

58785924 3062008 52689856 6%/ (50t &2 =29Ql)
/dev/hdal 101086 31551 64316 33% /boot
tmpfs 257652 0 257652 0% /dev/shm
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) VMAE 5 28 F7I

0S Atg 5 [l23 37 HE0= MEZE Volume & HHst0] ZC{0] DIRE A7l W

A MH SEHAHAIBYE) -> 28 712 Yots AHE 27

B [MH B2 © 22

C. TASKOo| [2ER2]] 22

D. AJIZ 3} 22 AIO|X 3 MH Q3 & Attach Wolurme to Server = =2z

WES==1-8 Imu ce ¥

Z5 2 [vol-TEST v
£E 2% [val- TEST
TE o9 [vol-TEST

Attach Yolume to Server
E2 23 BE: 28 S HIEE 3-/MIL 2 150088

E Y 7t 28 Al [MH HZMHAZLH)] 2 S5 MH Q| HEf7} Processing 22
HPD|ACH YLMe| JFZAINK & 22 22, 2F F7F Al MH ZY M 7+H5)

ANy omAY el UoiY O F TUHZ
[l hanjin_2 Cent 55 @ Proceszing Default Erabled
[0 = hanin Cent 55 @ Running Default Enabled

Foo [MH Ag(MHALEYR)] o 290 MH{Q| HEf7 Running @2 HALH & 7t &Y
otz
M3 omx'Y el Wy 15 PLUHZ
[ bhanjin_2 Cent 55 @ Funning Default Enabled
[0 = haniin Cent 5.5 @ Funning Default Enabled

G. Z7tE 2E2 MM HE BolS 271810 2|2 E & 20l Jhs - AH| Reboot
[root@localhost ~]# fdisk -I

Disk /dev/hda: 279.1 GB, 279172874240 bytes
255 heads, 63 sectors/track, 33940 cylinders
Units = cylinders of 16065 * 512 = 8225280 bytes

Device Boot Start End Blocks Id System
/dev/hdal * 1 13 104391 83 Linux
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/dev/hda2 14 5221 41833260 8e Linux LVM

Disk /dev/sda: 107.3 GB, 107374182400 bytes
16 heads, 255 sectors/track, 51400 cylinders
Units = cylinders of 4080 * 512 = 2088960 bytes

Disk /dev/sda doesn't contain a valid partition table

H. THEIM A 9 = oy
[root@localhost ~]# fdisk /dev/sda
The number of cylinders for this disk is set to 51400.

There is nothing wrong with that, but this is larger than 1024,

and could in certain setups cause problems with:

1) software that runs at boot time (e.g., old versions of LILO)

2) booting and partitioning software from other OSs

(e.g., DOS FDISK, OS/2 FDISK)

Warning: invalid flag 0x0000 of partition table 4 will be corrected by w(rite)

Command (m for help): n

Command action

e extended

p primary partition (1-4)

p

Partition number (1-4): 1

First cylinder (1-51400, default 1):

Using default value 1

Last cylinder or +size or +sizeM or +sizeK (1-51400, default 51400):
Using default value 51400

Command (m for help): w

The partition table has been altered!
Calling ioctl() to re-read partition table.
Syncing disks.

[root@localhost ~]# mkfs.ext3 /dev/sdal

[ ORE CJ™MEZ|(/data) M H = OIRE
[root@localhost ~]# mkdir /data

[root@localhost ~]# mount -t ext3 /dev/sdal /data/
[root@localhost ~]# df -h

Filesystem Size Used  Avail Use% Mounted on
/dev/mapper/VolGroup00-LogVol00 37G 3.0G 326G 9% /

/dev/hdal 99M 31IM  63M 33% /boot
tmpfs 1014M 0 1014M 0%  /dev/shm
/dev/sdal 99G 188M 94G 1% /data
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. REAXNS2E ORE EEF /etc/fstab O S5

/dev/VolGroup00/LogVol00
/dev/sdal

LABEL=/boot

tmpfs

devpts

sysfs

proc
/dev/VolGroup00/LogVol01

/
/data
/boot
/dev/shm
/dev/pts
/sys
/proc
swap

ext3 defaults 11
ext3  defaults 12
ext3 defaults 12

tmpfs defaults 00
devpts gid=5mode=620 00
sysfs  defaults 00
proc  defaults 00
swap defaults 00




